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Ro(M)=log[R(A)/0,20]=log[R1(A)] reflection
device redRd Ad=596nm
0,707 1.00R(A) triangle lightnesst*:
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Ro(M)=log[R(A)/0,20]=log[R1(A)] reflection
device cyan-blueCq Ad=489nm
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Ro(M)=log[R(A)/0,20]=log[R1(A)] reflection
device yellowYd Ad=570nm

0,707 1.00R(A) triangle lightnesst*:
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Ro(M\)=log[R(A)/0,20]=log[R1(\)] reflection

device blueBd Ad=463nm
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triangle lightnesst*:
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Ro(A)=log[R(A)/0,20]=log[R1(A)] reflection
device greenGd Ad=535nm

0,707 1.00R(A) triangle lightnesst*:
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Ro(M)=log[R(A)/0,20]=logR1(\)] reflection
device magenta-redMd Ac=535cnm
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078250 500
wavelengthA/nm
Ro(A)=log[R(A)/0,20]=log[R1(A)] reflection
device greenG2g Ad=528nm
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CIELAB lightness L*:
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R2(M\)=log[R(A)/0,20]=log[R1(A)] reflection
device magenta-redM2q A¢=528cnm
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Ro(A)=log[R(A)/0,20]=log[R1(A)] reflection
device redRd Ad=596nm

0,707 1.00R(A) triangle lightnesst*:
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100,0
79,84/

r
0,35" )\1: L
0,200 567

Ro(M\)=log[R(A)/0,20]=log[R1(A)] reflection
device cyan-blueCq Ad=489nm

0,707 1.00R(A) triangle lightnesst*:
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BES51-1A
Ro(M)=log[R(A)/0,20]=log[R1(A)] reflection
device yellowYd Ad=570nm

0,707 1.00R(A) triangle lightnesst*:
\ala

0,357

100,0
79,84/

400 500 600
wavelengthA /nm

BES51-2A

Ro(M\)=log[R(A)/0,20]=log[R1(\)] reflection
device blueBd Ad=463nm

0,707 1.00R(A) triangle lightnesst*:
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Ro(M)=log[R(A)/0,20]=log[R1(A)] reflection

device greenGd Ad=535nm

0,707 100R(A) triangle lightnesst*:
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Ro(M)=log[R(A)/0,20]=logR1(\)] reflection
device magenta-redMd Ac=535cnm
0,707 1.00R(A) triangle lightnesst*:
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078250 500
wavelengthA /nm
Ro(A)=log[R(A)/0,20]=log[R1(A)] reflection
device greenG2d Ad=528nm
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CIELAB lightness L*:
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R2(M\)=log[R(A)/0,20]=log[R1(A)] reflection
device magenta-redM2q A¢=528cnm

0,707 1.00R(A) triangle lightnesst*:
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TUB-test chart BES5; Wavelength ranges @$waldcolours + G2M2, C=2:1 and 8:ihput:rgb/n
Normalized reflection lodR(A)/0,2] and model relation to lightness of the antagonistic signals
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